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AS Level Business Exemplar Candidate Work

Introduction

This resource has been produced by a senior member
of the AS Business examining team to offer teachers an
insight into how the assessment objectives are applied.
It takes exemplar candidate responses from the Summer
2016 series and provides some commentary on what
factors contribute to overall levels,

Please note that this resource is provided for advice and
guidance only and does not in any way constitute an
indication of grade boundaries or endorsed answers.
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GRADE A SCRIPT

QUESTION 16(a)

State two benefits to Faik of being an entrepreneur.

EXAMINER COMMENTARY

Two good answers here —'be own boss’and ‘personal interest/
job satisfaction’

Awarded 2 marks
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QUESTION 16(b)

Explain two risks faced by an entrepreneur.

EXAMINER COMMENTARY

Sadly the candidate only suggested one answer. The response
scored one of the available two marks. The first part of the
answer ‘high initial costs'is a disadvantage rather than a risk, so
could not be credited. Although not well expressed, the rest of
the response does allude to there being a financial risk for an
entrepreneur, and this was awarded a mark.

Awarded 1 mark
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QUESTION 17

Exemplar Candidate Work

Explain one benefit to Faik of having a business mentor while he was setting up Wild Fangs.

EXAMINER COMMENTARY

The mark scheme shows that a correct contextual response
should be awarded two marks and a non-contextual response
one mark.

This candidate makes two valid points in this answer (albeit
only one is required) — the mentor would provide advice (1)

and help with decision-making (2). Unfortunately none of the
response contains any context. This is a common error. When a
contextual response is required the question will clearly indicate
this — usually by mentioning a person’s name, job title or the

name of the business. Candidates need to be taught to check
the wording of the question. This question said ‘one benefit to
Faik ..., this is different from a question that said ‘one benefit to
an entrepreneur’. The first requires a contextual response, the
second a generic response will suffice.

This response could have easily been contextualised by
suggesting what specific advice or decisions the mentor
could have helped Faik with e.g. how to advertise his animal
workshops or what to charge for the children’s parties.

Awarded 1 mark
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QUESTION 18*

Evaluate the importance to Wild Fangs of providing high-quality customer service.
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EXAMINER COMMENTARY

The answer begins by explaining what customer service is (AOT).

In the second paragraph there is evidence of context 'new
business’and 'newly developed business' (AO2). This is followed
by a brief, but specific, judgement that customer service

is particularly important to Wild Fangs because it is a new
business start up (AO4). This judgment is supported by further
knowledge of how good customer service can be achieved
e.g. being well prepared (AO1) for the presentations (AO2). The
benefits of receiving are then analysed in the remainder of the
second paragraph through to gaining future business (AO3).

In the third paragraph another argument as to why customer
service is particularly important to Wild Fangs is introduced. The

Exemplar Candidate Work

paragraph culminates in some analysis concerning high levels
of customer service justifying customer spend (AO3).

The fourth paragraph gives further argument about word of
mouth recommendation and again reaches some basic, but
specific, judgement concerning free types of advertising being
essential for a relatively new business (AO4).

The concluding two paragraphs attempt to summarise previous
points made, sadly however it adds little as this time most of the
context has been removed.

The answer was awarded full marks for knowledge and
understanding (AO1) and application (AO2) and its’
analysis (AO3) and evaluation (AO4) were rated as good.

Awarded 10 marks
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QUESTION 19(a)

Refer to Extract C. Wild Fangs normally receives three bookings per month for
one-hour birthday parties. The price elasticity of demand is estimated to be -3.75.

Calculate the annual revenue that Wild Fangs gains from birthday party bookings.

EXAMINER COMMENTARY

Correct answer, full marks. The workings are also shown for
good measure, this should be encouraged. In the event that
a candidate gets the final answer incorrect, the showing of
workings may allow us to credit partial marks.

Awarded 2 marks
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QUESTION 19(b)

Calculate the number of birthday party bookings Wild Fangs is likely to receive in

one year if it decreases its price for birthday parties to £96 per hour.

EXAMINER COMMENTARY

Despite getting this answer wrong the candidate makes a good
attempt at answering the question and shows their workings.
This is a good practice and should be encouraged. On this
occasion showing the workings has allowed the examiner to
credit the candidate with one mark for the correct calculation of
the percentage change in price (20%). If only the final answer of
'42 bookings' had been shown the candidate would have been
awarded zero.

Awarded 1 mark
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QUESTION 20*

Evaluate the extent to which Wild Fangs’ promotional activities are likely to be effective.
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EXAMINER COMMENTARY

The answer begins by suggesting that Wild Fangs mainly uses
below the line promotional methods, and explains what this
means. This is both knowledge and application (AO1 and AO2).

The second paragraph concentrates on promoting through the
website. It contains more knowledge it is cheap’ (AO1) and refers
to schools and nursing homes (AO2). The next paragraph which
discusses the inclusion of quality photographs of the website is
analytical (AO3).

The fourth paragraph considers the effectiveness of advertising
through trade fairs. There is a basic assertion (AO4) towards the
beginning of the paragraph that that it is an effective method to
reach business clients, but no justification of this opinion is given
at this point. The remainder of the paragraph contains lots of
links in an analytical chain about the benefits of using the trade
fair for marketing purposes and was judged to be of a very high
standard (AO3).

Exemplar Candidate Work

Some good evaluation of the effectiveness of social media is
found in the fifth paragraph. This evaluation is two sided - cheap
but potential for negative publicity (AO4).

If the answer had stopped here the response would have been
awarded 18 of the available 20 marks.

However, the final two paragraphs provide further evidence

of evaluation (AO4) by considering the effectiveness of the
promotional strategy as a whole (rather than the individual
promotional methods) (AO4). The answer gained all of the AOT,
AO2, AO3 and AO4 marks, and so is awarded full marks.

Awarded 20 marks
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GRADE C SCRIPT

QUESTION 16(a)

State two benefits to Faik of being an entrepreneur.

EXAMINER COMMENTARY

Both answers were correct. Keeping all of the profit was one of
the most common correct answers.

Awarded 2 marks
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QUESTION 16(b)

Explain two risks faced by an entrepreneur.

Exemplar Candidate Work

EXAMINER COMMENTARY

The question asked for risks faced by an entrepreneur not risks
faced by the business. The mark scheme emphasises this point
i.e. personal risks were required.

The first response was deemed too vague to be awarded a
mark because it was unclear as to whether ‘can run out of
funds'referred to the business or the entrepreneur running
out of funds. A reference to running out of funds so that the
entrepreneur could not afford to eat or live would have been
awarded a mark; however the business running out of funds
and not being able to pay its bills would not.

The second response was clearly written from the business
perspective and so could not be awarded. It also confused 'risk’
with disadvantage’

Awarded 0 marks
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QUESTION 17

Exemplar Candidate Work

Explain one benefit to Faik of having a business mentor while he was setting up Wild Fangs.

EXAMINER COMMENTARY

The mark scheme shows that two marks should be awarded for
a contextual response and one mark for a generic response. This
candidate shows good knowledge of what a mentor is and how
a mentor might help e.g. help with advertising. However the
answer is entirely generic, by this we mean the answer could
have applied to absolutely any new business start up. Simply
dropping in the name of the business, in this case ‘Wild Fangs,
does not make the answer contextual.

A contextual reference was all that was required to move this
response to full marks. There are many ways this could have
been done, perhaps one of the easiest would have been a
reference to what was being advertised e.g. children’s parties
or to whom e.g. schools or nursing homes — either would have
sufficed.

Awarded 1 mark
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QUESTION 18*

Evaluate the importance to Wild Fangs of providing high-quality customer service.
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EXAMINER COMMENTARY

The answer begins by linking the provision of high quality
customer service with customer feedback (AO1). The candidate
says that this feedback is found on Faik’s website, showing a
hint of application (AO2). The remainder of the paragraph is
some very basic but non-contextual analysis about the worth
of positive feedback to a business (AO3). The final sentence of
this paragraph ‘This is important for Wild Fangs'is a throw away
statement with no supporting judgement.

The second paragraph suggests some benefits of providing
good customer service. There are some analytical links in the
chain through to sales and profit (AO3).

The argument about the cost of a cake in the third paragraph
was not seen as relevant to the answer to the question.
However this paragraph did contain a contextual reference to a
birthday party, helping to secure application marks (AO2).

Exemplar Candidate Work

The final paragraph is the only place where any evaluation is
seen i.e. the only place they actually justify the importance of
customer service to the business. The justification is correct, but
generic as it would apply to virtually all businesses (AO4).

Overall the answer was awarded full marks for knowledge
and understanding (AO1) and application (AO2). The quality
of analysis (AO3) was rated as good and the evaluation
(AO4) reasonable.

Awarded 9 marks
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QUESTION 19(a)

Refer to Extract C. Wild Fangs normally receives three bookings per month for one-hour
birthday parties. The price elasticity of demand is estimated to be -3.75.

Calculate the annual revenue that Wild Fangs gains from birthday party bookings.

EXAMINER COMMENTARY

The correct answer, so full marks awarded.

Whilst the workings did not need to be shown in order to
gain the marks, it is always good practice and we are pleased
to show the working clearly laid out here. If the candidate
had made an arithmetical error during their calculation which
meant that their final answer was wrong, we may have been
able to credit them with one mark for correct method.

Awarded 2 marks
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QUESTION 19(b)

Calculate the number of birthday party bookings Wild Fangs is likely to receive in one year if it

decreases its price for birthday parties to £96 per hour.

EXAMINER COMMENTARY

The correct answer, so full marks awarded.

Once again, the workings are shown. This is good practice and
especially important in more complex questions like this where
an arithmetical error is more easily made.

Awarded 3 marks




AS Level Business Exemplar Candidate Work

QUESTION 20*

Evaluate the extent to which Wild Fangs’ promotional activities are likely to be effective.
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EXAMINER COMMENTARY

The first paragraph shows knowledge of below the line
advertising, especially the use of social media (AO1). The
paragraph continues to discuss Wild Fang’s use of Twitter and
Facebook (AO2). One piece of basic analysis can be found
toward the end of the paragraph - follow — up to date (AO3).
This is customer-facing analysis; however it does not get as far
as stating the benefits to the business.

The second paragraph considers the use of the website (AOT).
The paragraph is applied to the business (AO2) and again,
contains some basic customer-facing analysis (AO3). The
paragraph ends with some basic evaluation of the effectiveness
of the website — not only does it advertise the business but it
provides customer opinions on the business (AO4).

The third paragraph considers the use of trade fairs. The links
in the chain of analysis in this paragraph are better than in
previous paragraphs because they culminate in a business-

Exemplar Candidate Work

facing argument — more customers, more revenue, more profit
(AO3). A basic assertion about the benefit in the long run
(AO4) ends this paragraph.

The final paragraph attempts to sum up the previous argument,
but it adds little. It is evaluative, but the evaluation is not
justified and amounts to just a simple assertion. The argument
that Facebook and Twitter can only reach nursing homes was
not agreed, and could not be awarded.

The answer received full marks for knowledge and
understanding (AO1) and application (AO2). Analysis (AO3)
was deemed just enough to be good and evaluation (AO4)
limited.

Awarded 11 marks
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GRADE E SCRIPT

QUESTION 16(a)

State two benefits to Faik of being an entrepreneur.

EXAMINER COMMENTARY

The first response is correct.

The second response does not answer the question set. The
question is asking a candidate to state a benefit of being

an entrepreneur i.e. owning their own business. Being able
to spend all of one’s savings and spare money to improve a
business is not a benefit of owning that business.

Awarded 1 mark
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QUESTION 16(b)

Explain two risks faced by an entrepreneur.

Exemplar Candidate Work

EXAMINER COMMENTARY

Both responses are incorrect. The candidate has confused

the 'risks' of being an entrepreneur with the ‘disadvantages’ of
being an entrepreneur. A 'risk’refers to something being lost or
harmed in some way.

Response one could have been turned from a‘disadvantage’to
a'risk'if it had been correctly developed. The risk of unlimited
liability is losing personal wealth and possessions. Had the
candidate said this they would have been awarded at least one
mark.

Awarded 0 marks
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QUESTION 17

Explain one benefit to Faik of having a business mentor while he was setting up Wild Fangs.

EXAMINER COMMENTARY

The mark scheme indicates that a correct contextual response
should be awarded two marks and non-contextual response
one mark. The reference to Faik being ‘creative;, which according
to the case study was part of the course he studied at university,
was deemed just enough to make this a contextualised answer
and so was awarded full marks.

Awarded 2 marks
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QUESTION 18*

Evaluate the importance to Wild Fangs of providing high-quality customer service.
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EXAMINER COMMENTARY

The answer begins with knowledge that high quality customer
service contributes to business survival (AO1). A list of some
further benefits are then suggested, but with no analytical links
(AOT1).

The second paragraph contains some contextual references
to Wild Fangs, especially in regard to care homes (AO2). The
paragraph shows some links in the chain regarding good
customer service, word of mouth, attracting new customers
and boosting customer numbers (AO3). This analytical
argument is written in the context of Faik’s sensitive behaviour
towards residents in the care home and is further evidence of
application (AO2).

The third paragraph gives a similar argument, this time relating
to a school. The analysis contained within this paragraph is
deemed weaker than the quality of the analysis in the second
paragraph, so adds no more to the award of this skill. Similarly,
the fourth paragraph adds more application — this time
educational and interactive workshops — but the analysis is
similar to that in the previous paragraph.

Exemplar Candidate Work

No evidence of evaluation i.e. judgement of how important
high quality customer service is to Wild Fangs was found in any
of the answer.

The answer was awarded full marks for knowledge and
understanding (AO1) and application (AO2). Analysis (AO3)
was deemed to be good. No evaluation (AO4) was evident.

Awarded 7 marks
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QUESTION 19(a)

Refer to Extract C. Wild Fangs normally receives three bookings per month for one-hour birthday parties.
The price elasticity of demand is estimated to be -3.75.

Calculate the annual revenue that Wild Fangs gains from birthday party bookings [2]

EXAMINER COMMENTARY

The correct answer to this question is £120 x 3 x12 = £4320.
Unfortunately, this candidate has attempted a much more
complex calculation using price elasticity of demand. There is
nothing which we could credit here.

Awarded 0 marks
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QUESTION 20

Evaluate the extent to which Wild Fangs’ promotional activities are likely to be effective.
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EXAMINER COMMENTARY

It was pleasing to see an answer plan had been developed for
this question. This appears to have helped the candidate cover
the main topics and obtain a good mark by writing in a clear
and concise manner. The skill of writing short and to the point
answers is particularly important in examinations such as this,
where the time available is carefully controlled.

The answer begins with some basic knowledge of marketing,
including the use of the internet in modern society and some
above the line techniques (AO1). More knowledge which is
applied to Wild Fang’s is evidenced as the candidate begins

to discuss the use of the website for displaying photographs
(AO2). The link between impressive photographs and attracting
more customers is explained by increased interest, this is basic
analysis (AO3). The end of the paragraph makes a judgement
about the effectiveness of the website, the argument is detailed
and specific (AO4).

The next paragraph considers the use of social media as a
promotional tool. A judgement is made about the effectiveness
of social media because it can be targeted (AO4). Some basic
analytical points are made in the middle of the paragraph e.g.

Exemplar Candidate Work

simply way to receive updates and low cost (AO3). Neither of
these analyses were well developed. The end of the paragraph
provides a counter-evaluative argument to this point, further
evaluation (AO4).

The final paragraph discusses trade fairs. The comment

about trade fairs being a much less popular way to advertise

is unsupported and cannot be judged to be evaluative. The
remainder of the paragraph does contain some basic analysis
of the benefit of using a trade fair to promote the business i.e.
‘easily show exactly what the business has to offer’and ‘ideal for
those without internet, however once again neither of these
points were developed into a chain of argument (AO3).

The answer was awarded full marks for knowledge and
understanding (AO1) and application (AO2), Analysis (Ao3)
was judged to be reasonable and evaluation (AO4) good.

Awarded 14 marks
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